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Questions to Lecture 2 – Market equilibrium and public sector
1. Who are the main market participants and what objectives do they pursue?
The main market participants are consumers, governments and business firms. They pursue how goods and services are demanded and supplied. They also pursue factors which influence the supply and demand. 
Market participants pursue their selfish goals – consumers would like to maximize their utility, firms their profit and government also utility, which should be connected to the welfare of citizens. The market and prices, however, translates all these goals to an efficient outcome
2. Explain how money helped to solve the problem of coincidence of needs.
Because of money, there was no need for barter anymore. People could just sell things and get money, then use money to buy things when they needed. People didn’t have to look for someone to exchange goods with. 
Also the timing aspect is important – e.g. people who grow apples can buy things also in spring, when they do not have the harvest.
3. Define demand.

Demand : the ability and willingness to buy specific quantities of good at alternative prices in given time period, ceteris paribus.

4. What does the law of demand say? Give an example of the exemption from this law.

Law of demand says that with increasing price we demand less of that good. The demand curve is decreasing. Exemption is the luxury goods. In that case, when the price is higher we demand it because it gives us the feeling of a higher social status.

5. How would a demand curve look like in the situation, when a person is in a desperate need of a good and would pay anything for it? Why is such situation not very plausible (think about willingness vs. ability to pay)?

It would be a straight line up, which would mean that no matter how the price changes we would still purchase it. It is not very plausible because it is kind of immoral, meaning that in some cases only people with money can afford it.  
6. Give an example on how tastes affect demand.

For example in China, because of the swine flu, the demand for garlic was/is enormous. It was all based on some research, which said that it would prevent people from getting a swine flu.  
7. Give an example on how change in price of a complementary good affects demand.
For example if I eat pizza I always drink coke with it. If the price of either pizza or coke changed up I would buy less of both products because I would not be able to buy them as much as before and vice versa.
8. Give an example on how change in price of a substitute good affects demand.

For example I like to drink orange juice, but in case that the price of the orange juice would go up I would have to buy just natural water. The demand for orange juice would go down as its price would go up and the demand for my substitute good (natural water) would go up. 

9. With respect to the demand for the university enrollment, which of the following would cause a movement along and which a shift in the demand curve?
a. Lower tuition

This would cause a movement along the curve

b. More student loans

This would cause a shift.

10. Define supply

Supply: the ability and willingness to sell specific quantities of good at alternative prices in given time period, ceteris paribus
11. What are the determinants of supply?

The determinants of supply are factor costs, technology, other goods, taxes and subsidies, expectations and number of sellers

12. Explain how the price adjustment works in the case of market surplus.

When there is a surplus it causes that the price is too high as well as the supply. The only solution is to lower the price, until it meets its equilibrium.

13. Explain how the price adjustment works in the case of market shortage.

When there is a shortage than the price has to go up until it meets its equilibrium with supply.

14. What are the pros of opt-out vs. opt-in system of enrollment (use an example of retirement savings scheme)?

The pros of opt-out system of enrollment in retirement savings are that when you start working you automatically give away money for your retirement. So once you retire you will get some amount from the government. It the other case people would often forget to put money on side so when they would retire they would not get any money from the government, because the government would not have any money to give them. 

15. Give an example of positive demand shock (other than on lecture). Show how this shift affects the equilibrium price and quantity.
A positive demand shock could be caused in advance to natural disasters like hurricanes in a certain region. People are willing to spend more money for food, drink and gas to store it and prepare for hurricanes. These would cause a parallel shift in the demand curve to the right. You will get fewer goods for the same amount of money.
This is not exactly a good example of positive demand shock (mainly because it is closely connected to subsequent negative demand and supply shock.
16. Give an example of negative supply shock (other than on lecture). Show how this shift affects the equilibrium price and quantity.
In order to put political pressure on Iraq, the U.S. government forbids American companies to supply Iraq with a lot of products. This treatment would cause a negative supply shock in Iraq and would lead to a parallel shift in the supply curve to the left. So you get fewer goods for the same amount of money.
17. Give an example of negative demand shock. Show how this shift affects the equilibrium price and quantity.
Since the financial crisis has taken place, a lot of people have lost their jobs which results in a lower income (only unemployment benefits) and therefore to a negative demand shock and a parallel shift of the demand curve to the left. Meaning that you get more goods for the same amount of money.

18. Give an example of positive supply shock . Show how this shift affects the equilibrium price and quantity.
An invention of new production technology like the assembly line in the late 19th century caused a positive supply shock. Goods then could be produced faster and with lower production cost and therefore supply increased ( a parallel shift in the supply curve to the right. You get for the same amount of money more goods. 
19. What is the main difference between public and private good? Give an example of public good.
The consumption of a private good or service will exclude consumption of the same by another person, whereas this is not true for public goods. Example: public transport

20. Define a free rider.

Free riders are those who consume more than their fair share of a public resource, or pay less than a fair share of the costs of its production. Example: Studying without paying tuition in Austria.
21. Why do we observe under-production of public good?

Due to fact that there is a broken line of demand – paying – consuming,  people are waiting that other people are paying for their goods (free riding) ( this makes it unappealing for a private supplier to offer the good or service ( government has to offer it

22. Give an example of negative externality (other than on lecture). Why do we observe an overproduction of goods generating external costs?
An enlargement of ski slopes and therefore wood clearing would lead to the negative externality that the probability of landslides would increase. Negative externalities are overproduced because these goods generate a lot of profit, but the effects of the included negative externalities are not seen in the market.
The cost that is incurred by other citizens (market participants) is not included in the price of a good – which leads to overproduction.

23. Give an example of positive externality (other than on lecture). Why do we observe an underproduction of goods generating external benefits?
A construction of reservoir dam would lead to the positive externality of becoming a tourist attraction. These goods are underproduction because these externalities often do not generate monitory benefit for the participants.
24. Describe why market power of a market participant may lead to non-optimal output mix.
If a private market participant is a monopolist, this would lead to higher prices and restricted output ( is not the optimal output, which maximizes aggregate social utility. The same with unnecessary governmental restrictions like in North Korea ( averts importing goods

25. Give an example of natural monopoly from your country
Österreichische Bundesbahnen (ÖBB) ( National Austrian Railway Company ( only provider of transportation by train (passengers and goods)

26. What is the specific market-failure justification for government spending on

a. Public universities
Otherwise only students from a wealth family would be able to study because of much higher tuition. Government spends money on public universities to maintain uni building, pay salaries of lecturers …, so that the universities need not charge high tuition.
Education has positive externalities on the full economy + aspect of equity – some people cannot pay the full price

b. Health care
Since richer people are more taxed for their income, government has the possibility to spend money on public health care, so that medical achievements also become affordable for poor or not so wealthy people. Without gvn intervention some medical achievements would not been offered because of being not profitable.
Mostly to maintain equity – merit good

c. Highways
Highways would have never been built without gvn spending, because they are normally unprofitable. No private company would offer it at all, expect by charging high toll fees for use.
Public goods argument

d. Police 
Public goods argument, again

Police gives the people safety. A private company which offers security services with such a large number of security men, like national police does, would lead to enormous costs and therefore only rich people would be able to afford security services.
27. How much of government expenditures is appropriate based on the principles of cost-benefit analysis

The government expenditure should be so high that benefits from the expenditure exceed opportunity costs, but this is hard to measure. It cannot generally be said, how much would it the economy cost not to install a police or not to build highways.

28. What is the main idea behind public-choice theory

Public choice theory says that everybody is following his/her own interests/goals even the government ( politicians to be elected at the elections.
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